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2. The slope of the stress-strain curve in the elastic 

deformation region is 
a) Elastic modulus 

1. According to principle of transmissibility of forces, 

the effect of a force upon a body is 

A maxmum when it acts at the center of gravity of a 

body 

b) Plastic modulus 

c) Poisson's ratio 

B different at diflerent points in its line of action 

C. the same at every point in its line of action 

D. minimum when it acts at the C.G. of the body 

d) None of the mentioned 

3. Poisson's ratio is unitless 

a) TRUE 

c) Can be true or false 

4. The O factor of a coil is 

a) inversely proportional to resistance of the coil 

b) directly proportional to resistance of the coil 
c) inversely proportional to inductive reactance of the 
coil 

5. D.C. shunt motors are used in those applications 
where 

a) high starting torque is required 

smog? 

b) practically constant speed is required 
c) high no-load speed is required 

a) NO; 

d) variable speed is required 

b) FALSE 

d) Can not say 

c) PAN 

a)75% 

SETB 

c)50% 

efficiency is 

b) O; 
d) SPM 

7. Under the condition of maximum power transfer, the 

b)100% 
d)25% 

8. The full fom of CSS is 
a)Cascading Style Sheets 
b) Coloured Specval Sheets 
c) Color and Style Sheets 
d) None of the above 

9. The maximum frictional force which comes 
into play when a body just begins to slide over 
another surface is called 

A. Limiting friction 
C. Rolling friction 

A. db/12 

6. Which of the following is not a part of photochemical c rat/32 

10. Moment of inertia of a rectangular section 
having width (b) and depth (d) about an axis 
passing through its C.G. and parallel to the depth 

(d), is 

C. db/36 

c) -1 and -0.5 

11. What is the limiting value of Poisson's ratio? 
a) -1 and 0.5 b) -1 and -0.5 

d) 0 and 0.5 

a) Primary sedimentation 
b) Disinfection 

B. Sliding friction 

12. Which water treatment process is done after 
filtration of water? 

D. Kinematic friction 

B. bd/12 

D. bd/36 

d) Flocculation 
c) Secondary sedimentation 

14. Inertia is 

13. Momnent of inertia of a circular section about 

an axis perpendicular to the section is 
A. nd'/16 B. rd°/32 

D. na/64 

a) Property of mass to remain unchanged 
b) Property of mass to change continuously 
c) Property of mass to accelerate 
d) Tendency of mass to accelerate 



IS Which gas is mainly poducet due to incomplete 

burming ofwod" 

a)C0 

ONO: 

bvause it 
l6 Electncal aplianes are connected in parallel 

a) is a smple cinuit 

b) SO, 

b) draws less current 

d) NO, 

) results in reduced power loss 

d) makes the operation of appliances independent of 
cach other 

17. In India, the distribution of electric power is done 

by 
a) 3-phase, 3-wire a.c. system 
b) 3-phase, 4-wire a.c. system 
c) l-phase system 

18. A fuse is a 

d) l-phase d.c. system 

a) Protective device 

b) Current limiting device 
c) Current controlling device 
d) Fault detecting device 

a) CO 

19. Which of the following is involved in production of 
carboxyhaemoglobin? 

c) NO, 
b) SO 
d) NO, 

20. The a.c. system is preferred to d.c. system because 
a) a.c. voltages can be easily changed in magnitude 
b) d.c. motors do not have fine speed control 

c) high voltage ac transmission is less efficient 

a) equilateral 
c) isosceles 

d) d.c. voltages cannot be used for domestic appliances 

21. The triangle joining the points 
A(2,7), B(4,-1), C(-2,6) is 

b) right angled 
d) none of these 

22. Ifa part is 
construincd toi Ove nd healed, it 

will develop 
a) Principal stress 

c) Compressive stress d) Shear stress 

23. Find the elongation of an steel rod of l00mm 

a tensile strain of 

length when it is subjected to 

0.005? 

a) 0.2mm 
c) 0.4mm 

(i) sin(x) 
(ii) cos(x) 

24. Ify = sin(x), then 

25. 

a. 

b) = 90° 

a.b=0implies that 

c) Maximum 

a) a= 0 b)b =0 

b) 0.3mm 

J/R is called 

b) Tensile stress 

d) 0.5mm 

a) Shear modulus 

27. In the torsion equation 

c) Polar modulus 

(ü) 3x² sin(x3) 
(iv) 3x cos(x) 

26. The neutral axis of the cross-section a beam is 
that axis at which the bending stress is 
a) Zero b) Minimum 

d) Infinity 

dy 
dx 

c)either a=0 or b=0 

IS 

T 

a) Conservation of charge 

R 

b) Section modulus 

28. Kirchhoff's voltage law deals with 

b) Conservation of energy 

d) None of these 

the term 

c) Conservation of momentum 
d) Conservation of angular momentum 

29. M.M.F in a magnetic circuit corresponds to 
Voltage drop in a electric circuit 

b. Potential difference in a clectric circuit 
c. Electric intensity in a electric circuit 
d. Electromotive force in a electric circuit 



30. Strain cnergy is the 
a) Energy stored in a body when strained within clastic 
limits 
b) Energy stored in a body w hen strained upto the 
breaking of a specimen 
c) Maximum strain energy which can be stored in a 
body 
d) Proof resilience per unit volume of a material 

31. What type of colloid is an aerosol? 
a) Solid in gas 
b) Gas in solid or fluid 
c) Fluid in gas 
d) Fluid or solid in gas 

32. Ir=ind the value ofx. 

a)2 
c+2 

is 

33. Ify = e*(sin x + cos x), then-2+ 2y = 

a)0 

c)2 

b)8/3 

a) AttributesB 

d)3/8 

c) Raw textD 

a) 1/2 

34. An HTML document can contain 

b) 1/4 

a)HI 

b)1 

c)Head 

d)3 

b)Tags 

35. A coin is tossed twice. Find the probability of 

getting at most one head 

dx2 

d)All the answers are tråe 

b) 2/3 
c) 4 

dx 

36. Choose the correct HTML tag for a large title. 

b)Heading 
d)H6 

37. In which language UNIX is written? 
) Ct+ b) C 
) JAVA d) Python 

38. How can we change the background color of 

an element? 
a) background-color 

b) Both A and B 

a)2mr/3 

39, The moment of inertia of a solid sphere of 

mass 'm' and radius 'r is 

c)mr? 

bending moment is 

a) Zero 

40. At the point of contraflexure, the value of 

c) Can't be determined 

after the ultimate point? 

a) Last point 
c) Elastic limit 

b)2mr/5 

d)mr'/2 

41. Which point on the stress strain curve occurs 

a) 1000 
c)1400 SQ 

a) SO, 
c) CO 

b)color 

42. The total equivalent resistance of the circuit 

will be 

a) Fluorine 

c)None of the above 

100 W, 200 V 

c) PAN 

Lamp A 

b) Maximum 
d) Minimum 

b) Breaking point 
d) Material limit 

200 V 

43. Which air pollutant cause corrosion of 

building? 

40 W, 200 V 

b)400 2 
d)135 2 

b) SO; 
d) NO, 

Lamp B 

44. Which of the following air pollutant effects 
plants the most? 

b) SO: 
d) HCI 



4s The pemanent hardness in water is due to the 

presence of 

a) Sulfates, Chlorndes 

h) Sulfates, chodes, nitrates 
0Carbonates and bicarbonates 

d) Sulfates and carbonates 

46. let A and B bc the events such tthat P(A) 

NB)- 14 andP(A nB)= 1/5then P(AUB) is 
ii) 23/60 )2160 

) 2560 

hardware and 

47. System software acts as a bridge between the 
soflware? 

a)Management 
cUtility 

clement? 
48. How can we change the text color of an 

a)background-color 
c)Both A and B 

iv) 27/60 

hardness? 

a) CaSO4 
c) MgCl; 

49. Which of the following causes the temporary 

b)Processing 
d)Application 

b)color 

a) scripting, interpreter 

d)None of the above 

b) MgSO4 
d) Ca (HCO3) 2 

50. The Unix shell is both 

language. 

c) interactive, responsive 

c)ROM 

c) Between 80 and 90% 
a) Between 60 and 70% 

1/3, 

and 

51. An ideal machine is one whose efficiency is 

b) high level, low level 
d) interpreter, executing 

b) Between 70 and 80% 
d) 100% 

52. Flash drive is popularly known as 
a)Microprocessor b)RAM 

d)Pen drive 

53. What is a free-body diagram? 

a) t's a sketch of a moving body that shows 

internal forces of the body and reaction forces 

b) It's a sketch of an undisturbed body that shows 

external forces of the body 

c) It's a sketch of an isolated body that shows 

external forces of the body and rcaction forces 

id) It's a sketch of a body in motion that shows 

bending forces of the body 

54, Find the cffective resistance betwecn A and B 

i) 21/60 

(i) 

iii) 25/60 

Z3s2 

(ii) 

a) 32 

1 

() 

(iv) 

c)52 

2 

A 

6 S2 

-

55. Let A and B be the events such that P(A) = 

1/3, P(B) = 1/4 andP(ANB) = 1/Sthen 
P(AUB) is 

3 S2 

6.5) 

3 S2 

6 2 

b)292 

56. The value of sin 50° - sin 70° + sin 10° is 

w 

d)62 

ii) 23/60 
iv) 27/60 

ww 3S2 

B 

a) 0.5-Ippm b) 0.1-0.2ppm 

57, The normal dose of chlorine during post 
chlorination is 

c) 0.1-0.5ppm d) 1-2ppm 



S8. What is Unix? a) Unix is a programming language b) Unix is a software program c) Unix is an operating system d) Unix is a text cditor 
59. The MI. of hollow circular section about a central axis perpendicular to section as compared to its M.I. about horizontal ax is is 
A. Same 
B. Double 
C. Half 

D. Four times 

60. Dynamic friction as compared to static friction 

a) Same 
b) More 

c) Less 
d) May be less of more depending on nature of 

surfaces and velocity 

****** SPACE FOR ROUGH WORK *** *** 
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